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There ore 17 lollg sticks.

There ore 
| _l oroun, ot :

There ore [-l ,o,,, sticks remoining.

17 + 3= I remoinoer l_l

Finollg, Mo uses the lollg sticks to moke

How mong pentogons cqn Mo moke?
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Complete the sentences.

There ore 17 lollg sticks.

There ore I I Orouns of S

There ore I I 
tottU sticks remoining.

17 + s= I remoinaer l*l
Mo con ,ot" l--.| pentogons.

Use repeoted subtroction to complete the divisions.

Use the number lines to help gou. @

19 23

O Mo hqs these lollg sticks.
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He uses them to moke squores.

How mong squores con Mo moke?

Complete the sentences.

There ore 17 lollg sticks,

There ore I lgroups 
of 4

There is [_l'o',0 stick remoining.

17 + 4= E remoinaer l-l
Mo con ,or." i_l squores.

Mo now uses the lolly sticks to moke triongles.

How rnong triongles con Mo moke?

Complete the sentences.
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q) 23 + o = l-l remoinaer [-l
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b) 23+5=Eremoinaer[*l O How do gou know there is no remoinder when 75 is

divided bg 5?

Without doing the division, whot is the remoinder

when 76 is divided bg 5?

Use ploce volue counters ond o ploce volue chort to work out

the divisions.

s) 87 + 4 = [--l remoinaer l*l

bt 77 +3 = [-l remoinaer [_l

c) 74 +s = [-l remoinuer l-l

c) 23+3=nremoinaer[l

O Evo works out 34 + 4

ls Evo correct?

How do gou know?
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O Teddg hos fewer thon 60 morbles but more thon 40

When he shores them equollg into 3 pots he hos no remoinders.

When he shores them eguollg into 4 pots he hos remoinder 3

When he shores them equollg into 5 pots he hos remoinder 1

How mong morbles could Teddg hove?

- O Complete the colculotions.

ffi]h q)2e+[=4remoinder5
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Wr,^ b) 2e + n = 4 remqinder 1
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c)29+I=14remoinder't


